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B0[7 L 2 = 9 L KR U Z 01 & Y mg - - - - - - - - - - - - 0.1mg/l KT
B0 s by ok e | = | = | = Jewws] — | = | - [ = | - | = | = | - [oowssmenur
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20245
Bk RFER A B % KiGZHA
oKt = d W B % K H H O (& K )
B®EAR
4R 58 68 718 8A 9A 108 18 128 1A 2R 3A B1Z1E
= (18 B &
B |7 > F Y ERUZ O I E Y me — | <0001 — | <0001 - - - — — — — - 0.02mg/L KT
B2 o 5 v R U & O & & % me - - — |<o00002| — - - - - - - — | 0.002mg/L UTF
B3 |= v &7 L R U £ O & & ¥ me - < 0.001 — < 0.001 - - - — — — — - 0.02mg/L KT
B5 |1 2 - o 00 xT B Y my - - — |<o00004] -— - - — — - - - 0.004mg/L LAF
B8 |k % T | mg/l - - - <004 - - - - - - - - 0.4mg/L KT
Bo[z a4 r®> -2 -2 FLAx 2 my - - - < 0.008 - - - — — - - - 0.08mg/L KT
B0 |3 e E | me/ — < 0.06 — < 0.06 — — — — - — - - 06mg/L KT
812 | = [ 1t & | me/l - - - - - - - - - - - - 0.6mg/L BT
B3| 2 oo 7 & b = + U L mgL - < 0.001 - < 0.001 - - - - - - - - 001mg/L KT
ERENE ] 7K 9 o > - | me/l - <0.002 - <0.002 - - - - - - - - 0.02mg/L  KAF
Bi5 |R %% (120EHDS56IEH) - - - - - - - - - - - - - ﬁfu{fiifg%ﬁim
B16 |5% 2z g | mg/l — — — — — — — — — — — — img/L  HUTF
Bi7(h v oo Ln, =59 229 L (BE)| mg - - - — — — — - - - - - 10mg/IEA £, 100mg/LELTF
Bis|w ¥ A v R U & O & & ¥ m - - - - - - - - - - — — 001mg/L KT
B19 | B Iod B me/ - 22 - 26 - - - - - - - - 20mg/L KT
Bo(1, 1, 1 - Yy oo xT3 o mg - - - <0.03 - - - — — — — - 03mg/L  UTF
B2o A F ) -t - TF LI —F ) m/]| — - — | <oo002| - - - - - - - — | oo2mg/L BT
B2 | # % ( KMnO4 H B & ) | me/ — — — - - - - — — — — — 3mg/L KT
B[R X #® E (T O N )| - - <1 - <1 - - - - - - - - 3 LT
Ho4 |7% H 5% 2 | me/l - - - - — - - - - - - — | 30me/ILLE.200mg/LELT
B25 |5 El = - - - - - - - - - - - - 1 LT
H26 | p H B - - - - — — — — - - - - - 75 BE
B B M (5 >4 1) 7 1 %) - - -11 - -12 - - - - - - - - SRRELLE
B28 |fi B x® =3 #a B|wwmi | — 0 — 0 — — - - - - — — 2000%3%/mLUTF
B2 |1 , 1 - £ 4 oo T F L Y m - - - < 0.001 - - - — - - - - 0.1mg/l HUTF
B30 |7 L 2 = 9 LR U Z 0O 1 & % me - - - — — — — - - - - - 0.1mg/l KT
gar |, Mo TR A B e | — - —  |<oo0000s| — - - - - - - —  [0.00005me/1 LI
20244
Bl KRR A 077 /N\E#KEHEAD
BOK = o v N & K 5B ¥ OE (& K FH )
T |m=n
4R 5A 6A 18 8A 9A 10A 1A 128 18 28 38
&5 (1H B &
B |7 > F v R U Z 0 E Y m - - - - - - - - - - - -
B2 o 5 v R U % O & & % me = = = — - - - - - - - -
B3 [= v & L B U & @O & & 9 mo - - - - - - - - - - - -
B5 |1 2 - 2 4 oA I 4 v om - - - - - - - - - - - -
B8 |k % T U men - - - - - - - - — - - -
BO |7 4 LB Y - 2 - ITFLAFXDm - - - — — - - — — — — —
g10 |H 15 * B[ me/ - - - - - - - - - - - -
B2 (= B it & F[ men | - - - - - - — - - - - -
B3| 4 oA 7 £ = b Y J|mgl| -— - - - - - - - - - - -
B14 @ Vi v m] > — Ul mg/l — - — — - — — — - - — —
Bi5 |2 %% (1 20EBH56IEH) - - - - — — — - - - - - -
B16 (5% 4 bt #[ mg/l - - - — — — — - - - - -
BU7|h Lo AL, RT3 L (BE)| mg - - - — — — — — — — — —
B8R v A v B UV £ 0k E B men| - - - - - - - - - - - -
B19 |3 B = B me/ - 26 - 26 - - - - - - - —
2001, 1, 1 - +UsBO0xTH Y mg - - - - - - - - - - - -
B2t | A F ) - t - TF )L I — T ) mg — — — - - - - — — — — —
B2 |H # % ( KMnO4 H & 8 ) | me - - - - - - - - - - - -
BB R & & E (T O N ) - — <1 — <1 — — — — — — — —
B24 | i 5% 2 | me/| - - - — — — — - - - - -
B25 |/ E| E - - - - - - - - - - - -
H26 | p H B - - - - — — — — - - - - -
B | B % (3 45 1) 7 18 %) - = = = — — — - = = = = =
B28 |fiE B * E-3 #a Elezmi| — - - — — — — - - - - -
B2 |1 , 1 - ¥ 4% B B I F L Y myl - - — | <0001 - - - - - - - —
B |7 L 2 = 9 L &R U Z 0O & ¥ myl - - - — — — — - - - - -
A A e I I I I I I I I B I I I
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Bk R A a7 /&K IBEAD
B oK R o 2 N &% K B 1B & (& K # )

BEA
48 58 68 7R 88 98 10AR 1A 128 1A 2R 38

= |18 B| &6
Bl |7 > F > R U Z 01 E Y m - — — — — — — - - - - -
B2 o 5 v R U & O & & % me = = = - — — — — — — - -
Bz v 7L B U £ 0O E& B mn| — = = — — - - - - - - -
B5 |1 2 - S oA I A Ymy - - - — — — - - - - - -
B8 |+ /2 T 2| mg/l - - - — — — — - - - - -
Bo [z r®> -2 -2 FLAx2 ) my - - - — — - - - - - - -
810 |# £ * B me/ - - - - - - - — - - - -
B2 | = [ it 5 | me/ - - - - - - - - - - - -
B3| 4 oo 7 & b = b YU JmgL| — - - - - - - — - - - -
B4 |#a 7k 9 =] 5 — | me/1 - - - — - - - - - - - -
Bi5|BEH (120EBHF56EAB) | - - - - - - - - - - - - -
16 |5% 3 & | me/l - - - — — — — - - - - -
BU7|h L ¥ L, T 209 L (BE)| mg - - - — — — — - - - - -
Bis|w ¥ A v R U & O & & ¥ m = = = — — — — — — — — —
B19 | B Iod B me/ - 22 - 1.5 - - - - - - - -
2001, 1, 1 - Uy ooxTi v mg - - - - - - - - - - - -
B2t |[A F I - t - T FIL I — F I m/ - - - - - - - - - - = =
B2 | # ¥ ( KMnO4 H & =2 ) | mgl - - - - - - - - - - - -
AR R K[ & & ( T O N ) - - <1 - <1 - - - - - — — -
B24 |7 * 5% 2 [ me/1 - - - - - - - - - = = =
B25 |5 El = - - - - - - - - - - - -
B26 | p H &l - - - - - - - - — - - - -
B |l B (5 v 45 ) 7 % %) - — — - — — — — - - — — —
B28 | B *® E3 #a BHleami | — - - - - - - - - - - -
B29(1 , 1 - £ 4 oo T F L v mg - - - < 0.001 - - - - — — — -
B30 |7 L 2 =% LR U Z 0O & & % mg - - - - - - - - - - - -
p ot s R e - [ - - - -1T-1T-1T-T-T-T-T-

20245
BL KRR A el A% KZEA D
K th = d W B % K H (F K H )

BEA
48 58 68 7R 88 98 10AR 1A 128 1A 2R 38

= |18 B| #6
Bl |7 > F > R U Z 0O 1A Y m - — — — — — — - - - - -
B2 o 5 v R U & O & & % me = = = - - - — — — — — —
Bz v 7L B U £ 0O E& B mn| — = = — — - - - - - - -
B5 [1 2 - S oA I A Ymy - - - — — — — - - - - -
B8 |+ /2 T 2| mg/l - - - — — — — - - - - -
Bo[zar®> -2 -2 FLAx 2 my - - - — — — — - - - - -
810 |# £ * B me/ - - - - - - - — - - - -
B2 |Z [ 1t & #| me/l - - - - - - - - - - - -
B3| 4 oo 7 & b = b Y L mgL| — - - - - - - — - - - -
B4 |#a F/3 9 =] 5 — | me/1 - - - — — — - - - - - -
Bi5s|BEH (120EBHF56EAB) | - - - - - - - - - - - - -
16 |% B 1 # men | — - - - - - - - - - - -
BU7|[Ah LY L, 5329 L (BE)| mg/ - - - — — — — - - - - -
Bis|w ¥ A v R U & 0O ik & ¥ m = = = — — — - — — — — —
B19 | B Iod B me/ - 25 - 22 - - - - - - - -
B2o(1, 1, 1 - tUYUsDoDOoxTsi o mg - - - - - - - - - - - -
B2t | A F UL -t - TFILI —TF )| me]| — - - - - - - - - - - -
B2 | # ¥ ( KMnO4 H & =2 ) | mgl - - - - - - - - - - - -
AR R K[ & & (T O N ) - - <1 - <1 - - - - - - — -
B24 |7 * & 2 [ me/1 - - - - - - - - - - - -
B25 |5 El = - - - - - - - - - - - -
B26 | p H &l - - - - - - - - — - - - -
B |l B (5 v 45 ) 7 % %) - — — - — — — — - - — — —
B28 | B *® =3 #a BHleam | — - - - - - - - - - - -
B29(1 , 1 - £ 4 oo T F L v mg - - - < 0.001 - - - - — — — -
B30 [7 L 2 =% LR U Z 0O & & % mg - - - - - - - - - - - -
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